EYTIR % rnwace |TN — N ... e
il ypress |2 - ¥y LM,

CtpaHnuua / Page 4 4 5 5

il
i

0!

’v.l

1700 1800 R605 2000
Union Reducing Male-Female Reducing Male-Female Union
Connector M BSP x F BSP M BSP x F BSP
Crpanuua / Page 6 7
2010 2020 A106 A107 A108zZ
Male-Female Connector Male/Male Bulkhead Bulkhead locknut Nipple for Bulkhead

M BSP x F BSP Extention

Crpanuua / Page

4520 4530 4730 4900

90°Elbow Union 45°Elbow Union Union Tee Cross Union

Ctpanuua / Page

4700 4710 4800 4810 4720
Run Tee Connector Branch Tee Connector Run Tee Connector Branch Tee Connector Union Tee
BSP Swivel Female BSP Swivel Female BSP Male BSP Male BSP Swivel Female

CrtpaHuua / Page

/
2350 4500 4510
Swivel Connector 90°Swivel Elbow 45°Swivel Elbow
M BSP x F BSP M BSP x F BSP M BSP x F BSP

Ctpanuua / Page

3200 3320 2550
90°Comp.Swivel elbow  45°Comp.Swivel elbow 90°Swivel Elbow 45°Swivel Elbow
M BSPxF BSP welded M BSPxF BSP Forged M BSP x F BSP welded M BSP x F BSP welded

Dimensions and general characteristics may be chang ed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

1-C



20N . S - : cemms 1l vy \
Wik !/_/PFQSS I = ——— Il fimiMM.

Ctpanuua / Page

2450 4550
R F BSPxF BSP F BSP x F BSP - F BSP x FSP welded F BSP x F BSP welded
I -
; IR
| e

4570 4820 A105
90°Elbow Union Union Tee Union
F BSP x F BSP F BSP x F BSP x F BSP F BSP x F BSP
Crpanuua / Page 19 20 20
A608 A604 A605
BSP Female Plug BSP Female Plug BSP Male Plug
Swivel
CtpaHuua / Page 21 21 22 22

AO051 1850 220C 2200
BSP Female End BSP Male End BSP Male End Threaded Sleeve
Weldable - Swivel (hex) Weldable (round) Weldable Weldable
Crpanuua / Page 23 24 24 25 25

1865 2360 4860 4620 4630
Male Connector Swivel Connector Branch Tee Connector 90°Elbow Connector 45°Elbow Connector
M BSP x M BSPT M BSPT x F BSP BSP - BSPT - BSP M BSP x M BSPT M BSP x M BSPT
Crtpanuua / Page 26 26

4600 4610
90°Swivel Elbow 45°Swivel Elbow
F BSP x M BSPT F BSP x M BSPT

Dimensions and general characteristics may be chang ed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

2-C



] |

!_yPFeSS ,“‘,.‘;

.|
q
>
&g
s |

=) ., vy 1
Il minmam.

D YOO O O Apanetpbl BSP

Crpanuua / Page 27 28 28 29 29 30

H

1875 2365 4870 4670 4680 4650
Male Connector Swivel Connector Branch Tee Connector 90°Elbow Connector 45°Elbow Connector 90°Swivel Elb ow
M BSP x M NPTF M NPTF x F BSP BSP - NPTF - BSP M BSP x M NPTF M BSP x M NPTF F BSP x M NPTF
Crpanuua / Page 30 31 32 32 33

4660 3900 3255 3600 3605
45°Swivel Elbow Adjustable Elbow Adjustable Elbow Adjustable Run Tee Adjustable Branch Tee
F BSP x M NPTF M BSP x M BSP Adj. F BSP x M BSP Adj. BSP - BSP - BSP Adj. BSP - BSP Adj. - BSP
Crpanuua / Page 34 35 35 36 36
1805 2370 3510 3515 3560
Male Connector Swivel Nut female Male Connector Long Male Connector Swivel Nut female
M BSP x M Metric 60° F Metric 60°x M BSP M BSP x M M etric M BSP x M Metric M Metric x F BSP
Crpanuua / Page k14 37 38 38 39
3910 3915 3410 3610 3615
Adjustable Elbow Long Adjustable Elbow Adjustable 45° Elbow Adjustable Run Tee Adjustable Branch Tee
M BSP x M Metric M BSP x M Metric M BSP x M Metric BSP - BSP - Metric BSP - Metric - BSP
CtpaHuua / Page 40 40 41 41 42

3520 3525 3570 3920 3925
Male Connector Long Male Connector Swivel Nut female Adjustable Elbow Long Adjustable Elbow
M BSP x M UNF M BSP x M UNF F BSP x M UNF M BSP x M UNF M BSP x M UNF
Crpanuua / Page 42 43 43
D i\%}L
T
3420 3620 3625
Adjustable 45°Elbow Adjustable Run Tee Adjustable Branch Tee
M BSP x M UNF BSP - BSP - UNF BSP - UNF - BSP

Dimensions and general characteristics may be chang ed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

3-C



1 ypress | SRR japtc ]| imimm

1700 KoHHekTOp ‘ L

-
y——

Union

part fiimber g e

6

1700-02-02 1/4" 1/8-28 24 14
1700-04-04 8 5/16" 1/4-19 32 19
1700-06-06 10 3/8" 3/8-19 36 22
1700-08-08 12 1/2" 1/2-14 42 27
1700-10-10 16 5/8" 5/8-14 40 30
1700-12-12 20 3/4" 3/4-14 42 32
1700-16-16 25 1" 1-11 52 41
1700-20-20 32 1.1/4" 1.1/4-11 57 50
1700-24-24 38 1.1/2" 1.1/2-11 60 55
1700-32-32 51 2" 2-11 71 70

1800 PeAyKUNOHHBLIN KOHHEKTOP

Reducing Niple

part fiimber g o

1800-04-02 6 1/4" 1/4-19 1/8-28 29 19
1800-06-02 6 1/4" 3/8-19 1/8-28 30 22
1800-06-04 8 5/16" 3/8-19 1/4-19 34 22
1800-08-04 8 5/16" 1/2-14 1/4-19 25 27
1800-08-06 10 3/8" 1/2-14 3/8-19 40 27
1800-10-08 12 1/2" 5/8-14 1/2-14 44 30
1800-12-04 8 5/16" 3/4-14 1/4-19 41 32
1800-12-06 10 3/8" 3/4-14 3/8-19 42 32
1800-12-08 12 172" 3/4-14 1/2-14 44 32
1800-12-10 16 5/8" 3/4-14 5/8-14 46 32
1800-16-06 10 3/8" 1-11 3/8-19 45 38
1800-16-08 12 1/2" 1-11 1/2-14 a7 41
1800-16-12 20 3/4" 1-11 3/4-14 49 41
1800-20-12 20 3/4" 1.1/4-11 3/4-14 52 50
1800-20-16 25 1" 1.1/4-11 1-11 55 50
1800-24-12 20 3/4" 1.1/2-11 3/4-14 54 55
1800-24-16 25 1" 1.1/2-11 1-11 58 55
1800-24-20 32 1.1/4" 1.1/2-11 1.1/4-11 58 55
1800-32-16 25 1" 2-11 1-11 64 70
1800-32-20 32 1.1/4" 2-11 1.1/4-11 66 70
1800-32-24 38 1.1/2" 2-11 1.1/2-11 68 70




L}
[ /1]

MM

R605

2000

PeAyKUNOHHbIN KOHHEKTOP

Short Male-Female reducing

part number

R605-04-02
R605-06-02
R605-06-04
R605-08-04
R605-08-06
R605-12-04
R605-12-06
R605-12-08
R605-16-06
R605-16-08
R605-16-12
R605-20-12
R605-20-16
R605-24-16
R605-24-20
R605-32-20
R605-32-24

ApanTtep coeAUHUTESNbHbIN

@ tube

Dimensions

I'lIML !

H:/)u

___--_

6
8
8
10
8
10
12
10
12
20
20
25
25
32
32
38

Male/female connector

part number

2000-04-33
2000-04-42
2000-04-55
2000-06-35
2000-06-54
2000-06-65
2000-08-45
2000-08-60
2000-08-80
2000-08-64
2000-12-48
2000-12-64
2000-12-75
2000-16-50
2000-16-90
2000-20-62

1/4"
1/4"

5/16"
5/16"

3/8"

5/16"

3/8"
172"
3/8"
1/2"
3/4"
3/4"
1"
1

1.1/4"
1.1/4"
1.1/2"

1/4"-19
3/8"-14
3/8-19
1/2-14
1/2-14
3/4"-14
3/4-14
3/4-14
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11
1.1/2-11
2-11
2-11

1/8"-28
1/8"-28
1/4-19
1/4-19
3/8-19
1/4"-19
3/8-19
1/2-14
3/8-19
1/2-14
3/4-14
3/4-14
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

22
21
24
29
27
26
27
31
30
31
34
34
35
39
43
43

22
22
27
27
32
32
32
41
41
41
50
50
55
55
70
70

Dimensions

i
i

W

___--_

8
8
10
10
10
12

5/16"
5/16"

5/16"

3/8"
3/8"
3/8"
1/2"
1/2"
172"
1/2"
3/4"
3/4"
3/4"
1
1"

1.1/4"

1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
1/2-14
3/4-14
3/4-14
3/4-14
1-11
1-11
1.1/4-11

1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
1/2-14
3/4-14
3/4-14
3/4-14
1-11
1-11
1.1/4-11

42
55
35
54
65
45
60
80
64
48
64
75
50
90
62

19
19
22
22
22
27
27
27
27
32
32
32
41
41
50




Yl i

2010  ApanTep peAyKUMOHHbIN

Female-Male reducing

part number

Dimensions

2010-02-04
2010-04-02
2010-04-06
2010-04-08
2010-06-04
2010-06-08
2010-08-04
2010-08-06
2010-08-12
2010-08-16
2010-12-04
2010-12-06
2010-12-08
2010-12-16
2010-16-08
2010-16-12
2010-16-20
2010-20-12
2010-20-16
2010-20-24
2010-24-16
2010-24-20
2010-32-20
2010-32-24

6
10
12
8
12
8
10
20
25
8
10
12
25
12
20
20
20
25
20
25
20
20
38

5/ 16"
1/4"
3/8"
1/2"

5/16"

1/2"

5/16"

3/8"
3/4"
1"

5/16"

3/8"
1/2"
1
1/2"
3/4"
3/4"
3/4"
1"
3/4"
1"
3/4"
3/4"

1.1/2"

2020 KOHHeKTOp yANUHEHHbIN

Male/Male Extention

part number

2020-04-04
2020-06-06
2020-08-08
2020-12-12
2020-16-16

@ tube

1/8 28
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/4-11
1.1/2-11
1.1/2-11
2-11
2-11

1/4 19
1/8-28
3/8-19
1/2-14
1/4-19
1/2-14
1/4-19
3/8-19
3/4-11
1-11
1/4-19
3/8-19
1/2-14
1-11
1/2-14
3/4-14
1.1/4-11
3/4-11
1-11
1.1/2-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

29
35
36
33
37
37
39
38
42
42
43
45
49
49
50
51
51
53
57
50
52
68
68

19
22
27
22
27
27
27
32
41
32
32
32
41
41
41
50
50
50
55
55
55
70
70

Dimensions

_____

10
12
20
25

5/16"
3/8"
1/2"
3/4"

1"

1/4-19
3/8-19
1/2-14
3/4-14
1-11

a7
61
73
84

22
27
32
41




iy press l’l,:'

A106  KoHtpraiuka

Bulkhead

part AUmbeEr g e

A106-02 6 1/4" 1/8-28 1/8-28 35 14 14
A106-04 8 5/16" 1/4-19 1/4-19 46 19 19
A106-06 10 3/8" 3/8-19 3/8-19 54 22 22
A106-08 12 1/2" 1/2-14 1/2-14 57 27 27
A106-10 16 5/8" 5/8-14 5/8-14 65 30 30
A106-12 20 3/4" 3/4-14 3/4-14 65 32 32
A106-16 25 1" 1-11 1-11 73 41 41
A106-20 32 1.1/4" 2-11 2-11 79 50 50
G

A107  KoHtpraiika

Bulkhead locknut

part AUmbeEr g e -

[ om ] nch | F | | G | E_ |
A107-02 6 1/4" 1/8-28 5) 14
A107-04 8 5/16" 1/4-19 7 19
A107-06 10 3/8" 3/8-19 8 22
A107-08 12 1/2" 1/2-14 9 27
A107-10 16 5/8" 5/8-14 9 30
A107-12 20 3/4" 3/4-14 10 32
A107-16 25 1" 1-11 11 41
A107-20 32 1.1/4" 2-11 13 50
L

A108 Hunnenb ANA KOHTpramku

I

}

|

B -

H

part AUmbeEr g e

L om ] nch | F | T | L [ H

A108-02Z 6 1/4" 1/8-28 1/8-28 35 14
A108-04Z 8 5/16" 1/4-19 1/4-19 46 19
A108-06Z 10 3/8" 3/8-19 3/8-19 54 22
A108-08Z 12 1/2" 1/2-14 1/2-14 57 27
A108-10Z 16 5/8" 5/8-14 5/8-14 65 30
A108-12Z 20 3/4" 3/4-14 3/4-14 65 32
A108-16Z 25 1" 1-11 1-11 73 41
A108-20Z 32 1.1/4" 2-11 2-11 79 50




iiilky/press l’l’:" :

4520  KonHekTop 90° T—@ ,

| AN
N\
90° Union Elbow ,_I_L

part AUmbeEr g e

4520-04 8 5/16" 1/4-19 26 26 14
4520-06 10 3/8" 3/8-19 32 32 19
4520-08 12 172" 1/2-14 36 36 22
4520-12 20 3/4" 3/4-14 40 40 27
4520-16 25 1" 1-11 42 42 33
4520-20 32 1.1/4" 1.1/4-11 52 52 41
4520-24 38 1.1/2" 1.1/2-11 59 59 50

4530 KoHHekTOp 45°

45° Union Elbow

&
<
{ H
-
O
F
part AUmbeEr o -

4530-04 8 5/16" 1/4-19 21 21 14
4530-06 10 3/8" 3/8-19 25 25 19
4530-08 12 172" 1/2-14 28 28 22
4530-12 20 3/4" 3/4-14 33 33 27
4530-16 25 1" 1-11 37 37 33
4530-20 32 1.1/4" 1.1/4-11 41
4530-24 38 1.1/2" 1.1/2-11 50




4730

4900

TponHuk

Union Tee

4730-04
4730-06
4730-08
4730-12
4730-16
4730-20
4730-24

X-06pa3HbIfi KOHHEKTOP

Cross Union

part number

4900-04
4900-06
4900-08
4900-12
4900-16

@ tube
8 5/16" 1/4-19
10 3/8" 3/8-19
12 172" 1/2-14
20 3/4" 3/4-14
25 1" 1-11
32 1.1/4" 1.1/4-11
38 1.1/2" 1.1/2-11

@ tube
8 5/16" 1/4-19
10 3/8" 3/8-19
12 172" 1/2-14
20 3/4" 3/4-14
25 1" 1-11

Dimensions

[ om ] inch | F | 8 | _C | H_ |

|

il

i

|

27 14
28 19
34 22
40 27
42 33
52 41
59 50

I

Dimensions -
. c | +H |
27 14
32 19
36 22
40 27
50 33




it sypress [[]

4700  TpouHuK 6okoBas ramka

Female run tee
LLL

-

-__ﬂ--_

4700-04 8 5/16" 1/4-19 1/4-19

4700-06 10 3/8" 3/8-19 3/8-19 33 28 19 22
4700-08 12 172" 1/2-14 1/2-14 40 34 22 27
4700-12 20 3/4" 3/4-14 3/4-14 48 40 27 32
4700-16 25 1" 1-11 1-11 52 42 33 38
4700-20 32 1.1/4" 1.1/4-11 1.1/4-11 61 52 41 50
4700-24 38 1.1/2" 1.1/2-11 1.1/2-11 61 59 50 55

4710  TpOWHUK HMXKHARA ranka

Female branch tee

part AUmbeEr g e -

[ om ] nch | F | T |8 JC [H |E |

4710-04 8 5/16" 1/4-19 1/4-19 32 27 14 19
4710-06 10 3/8" 3/8-19 3/8-19 33 28 19 22
4710-08 12 172" 1/2-14 1/2-14 40 34 22 27
4710-12 20 3/4" 3/4-14 3/4-14 48 40 27 32
4710-16 25 1" 1-11 1-11 52 42 33 38
4710-20 32 1.1/4" 1.1/4-11 1.1/4-11 61 52 41 50
4710-24 38 1.1/2" 1.1/2-11 1.1/2-11 61 59 50 55




I

iilHypress | [0

4800

4810

Apantep T-o6pa3HbIn

Male Run Tee

s

-

-__ﬂ---_

4800-04
4800-06
4800-08
4800-12
4800-16

8

5/16"
3/8"
172"
3/4"

1"

Apantep T-o6pa3HbIN

Male Branch Tee

4810-04
4810-06
4810-08
4810-12
4810-16

1/4-19
3/8-19
1/2-14
3/4-14
1-11

1/4-19
3/8-19
1/2-14
3/4-14
1-11

19
22
27
33

22
27
32
38

-

-__ﬂ---_

8

5/16"

3/8"
172"
3/4"

1"

1/4-19
3/8-19
1/2-14
3/4-14
1-11

1/4-19
3/8-19
1/2-14
3/4-14
1-11

19
22
27
33




L]
[ 1]

MM,

4720

2350

Apantep T-o6pa3HbIn

Swivel Female Union Tee

part number

4720-04
4720-06
4720-08
4720-12
4720-16
4720-20
4720-24

KoHHeKTOp ramka

Swivel Connector

part number

2350-02-02
2350-04-04
2350-04-06
2350-06-04
2350-06-06
2350-06-08
2350-06-12
2350-08-06
2350-08-08
2350-08-10
2350-08-12
2350-10-10
2350-12-08
2350-12-12
2350-12-16
2350-16-12
2350-16-16
2350-20-20
2350-24-20
2350-24-24
2350-32-32

f]
i
1/4-19 32 32 14
3/8-19 33 33 19
1/2-14 40 40 22
3/4-14 48 48 27
1-11 52 52 33
1.1/4-11 58 58 41
1.1/2-11 61 61 50
—
@ tube Dimensions
 mm [ nch [ T | F | L |

6 1/4" 1/8-28 1/8-28 23
8 5/16" 1/4-19 1/4-19 32
8 5/16" 1/4-19 3/8-19 33
10 3/8" 3/8-19 1/4-19 31
10 3/8" 3/8-19 3/8-19 35
10 3/8" 3/8-19 1/2-19 36
10 3/8" 3/8-19 3/4-14 39
12 1/2" 1/2-14 3/8-19 38
12 1/2" 1/2-14 1/2-14 40
12 1/2" 1/2-14 5/8-14 37
12 1/2" 1/2-14 3/4-14 42
16 5/8" 5/8-14 5/8-14 41
20 3/4" 3/4-14 1/2-14 42
20 3/4" 3/4-14 3/4-14 44
20 3/4" 3/4-14 1-11 44
25 1" 1-11 3/4-19 47
25 1" 1-11 1-11 49
32 1.1/4" 1.1/4-11 1.1/4-11 59)
38 1.1/2" 1.1/2-11 1.1/4-11 58
38 1.1/2" 1.1/2-11 1.1/2-11 58
51 2" 2-11 2-11 62

0 lE [
14 14
19 19
19 22
22 19
22 22
22 27
27 32
27 22
271 27
27 30
27 32
30 30
32 27
32 32
32 38
41 32
41 38
50 50
55 50
55 55
70 70

12-C



fiilky/press [0

I

4500

4510

KoHHekTOp ramka 90°

Swivel 90°Elbow

-

-__ﬂ---_

4500-04
4500-06
4500-08
4500-12
4500-16
4500-20
4500-24

8

5/16"
3/8"
172"
3/4"

1"

1.1/4"
1.1/2"

KoHHekTOp ramka 45°

Swivel 45°Elbow

4510-04
4510-06
4510-08
4510-12
4510-16
4510-20
4510-24

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

19
22
27
33
41
50

-

-__ﬂ---_

8

5/16"
3/8"
172"
3/4"

1"

1.1/4"
1.1/2"

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

19
22
27
33
41
50

22
27
32
38
50
55




T ypress ||| S—=

3200

KoHHekTOp ramnka 90° cBapHou

Swivel 90°Elbow (welded)

part AUmbeEr g e -

[ om ] nch | F | T |8 JC [H |E |

3200-02-02 6 1/4 1/8-28 1/8-28 17 16 14 14
3200-04-04 8 5/16" 1/4-19 1/4-19 20 23 19 19
3200-06-06 10 3/8" 3/8-19 3/8-19 24 25 22 22
3200-08-08 12 1/2" 1/2-14 1/2-14 28 31 27 27
3200-12-12 20 3/4" 3/4-14 3/4-14 33 35 32 32
3200-16-16 25 1" 1-11 1-11 39 43 41 38

3320  ApjanTtep Bpawatowumcs 45°
(wTamnoBKa)

Swivel 45°Elbow (Forged)

part AUmbeEr g e -

[ om ] nch | F | T |8 JC [H |E |

3320-04-04 8 5/16" 1/4-19 1/4-19 14 33 19 19
3320-06-06 10 3/8" 3/8-19 3/8-19 16 37 22 22
3320-08-08 12 172" 1/2-14 1/2-14 20 45 27 27
3320-12-12 20 3/4" 3/4-14 3/4-14 22 53 32 32
3320-16-16 25 1" 1-11 1-11 27 58 41 38




I

iilHypress | [0

2550

Swivel 90°Elbow (welded)

part number

2550-04-04
2550-06-06
2550-08-08
2550-12-12
2550-16-16
2550-20-20
2550-24-24
2550-32-32

2650

@ tube
 mm | inch | F [ T _[B |
8 5/16" 1/4-19 1/4-19 30
10 3/8" 3/8-19 3/8-19 37
12 172" 1/2-14 1/2-14 44
20 3/4" 3/4-14 3/4-14 59
25 1" 1-11 1-11 66
32 1.1/4" 1.1/4-11 1.1/4-11 71
38 1.1/2" 1.1/2-11 1.1/2-11 89
51 2" 2-11 2-11 113

Swivel 45°Elbow (welded)

part number

2650-04-04
2650-06-06
2650-08-08
2650-12-12
2650-16-16
2650-20-20
2650-24-24
2650-32-32

@ tube
[ mm | inch [ F [ T [B [C |

8 5/16" 1/4-19 1/4-19 17 44
10 3/8" 3/8-19 3/8-19 20 52
12 172" 1/2-14 1/2-14 23 53
20 3/4" 3/4-14 3/4-14 29 73
25 1" 1-11 1-11 35 85
32 1.1/4" 1.1/4-11 1.1/4-11 33 84
38 1.1/2" 1.1/2-11 1.1/2-11 41 103
51 2" 2-11 2-11 53 134

KoHHekTOp rarka 90° cBapHoOm

KoHHeKkTOp ranka 45° cBapHomn

(c [H JE [ |
322 19 19
B 2 2
23 2 27
62 32 32
68 41 38
76 50 50
93 55 55
123 65 70

(i JE |
19 19
22 22
27 27
32 32
41 38
50 50
55 55
65 70

15-C



JiilH ypress

2450  KoHHekTOp raika

Swivel Connector

Dimensions

2450-04-04 1/4 19 1/4 19

part number

2450-06-06  3/8-19  3/8-19 zg 22 22

2450-08-08 1/2-14 1/2-14 32 27 27

2450-10-10  5/8-14  5/8-14 29 30 30

2450-12-12 3/4-14 3/4-14 37 32 32

2450-16-16 1-11 1-11 43 38 38

2450-20-20 1.1/4-11 1.1/4-11 50 50 50

2450-24-24 1.1/2-11 1.1/2-11 53 55 55

2450-32-32 2-11 2-11 50 70 70

B

4550 KoHHekTOp ravika 90° — &

Swivel 90°Elbow

: b Dimensions
part number

4550-04 1/4 19 1/4 19

4550-06 3/8-19  3/8-19 37 37 19 22
4550-08 1/2-14  1/2-14 40 36 22 27
4550-12 3/4-14  3/4-14 48 48 27 32
4550-16 1-11 1-11 52 52 33 38
4550-20 1.1/4-11 1.1/4-11 58 58 41 50
4550-24 1.1/2-11 1.1/2-11 61 61 50 55

16-C



i fypress I

2750 KoHHekTOp ramka 90° cBapHom e
Swivel 90°Elbow (welded)
Dimensions
part number
./ 7 | 8 | c | «x [ E [ |
2750-04-04 1/4-19  1/4-19 30 35 19 19
2750-06-06 3/8-19  3/8-19 37 43 22 22
2750-08-08 1/2-14  1/2-14 44 19 27 27
2750-12-12 3/4-14  3/4-14 59 67 32 32
2750-16-16 1-11 1-11 66 76 38 38
2750-20-20 1.1/4-11 1.1/4-11 71 50 50 50
2750-24-24 1.1/2-11 1.1/2-11 89 98 5S 55
2750-32-32 2-11 2-11 113 127 70 70
B
2850

KoHHeKkTOp ranka 45° cBapHomn

Swivel 45°Elbow (welded)

PO e

NN

l7

: b Dimensions
part number

_F ] T | 8 | c | K | _E__|
a7 19 19

2850-04-04 1/4-19  1/4-19 17

2850-06-06 3/8-19  3/8-19 20 57 22 22
2850-08-08 1/2-14  1/2-14 23 59 27 27
2850-12-12 3/4-14  3/4-14 29 79 32 32
2850-16-16 1-11 1-11 35 93 38 38
2850-20-20 1.1/4-11 1.1/4-11 33 87 50 50
2850-24-24 1.1/2-11 1.1/2-11 41 108 55 55
2850-32-32 2-11 2-11 53 139 70 70

17-C



fiilk]ypress || 4.

I

4570

4820

KoHHekTOp 90°

90°Elbow Union

part number

4570-04
4570-06
4570-08
4570-12
4570-16

KoHHekTOp T-06pa3HbIn

Union Tee

4820-04
4820-06
4820-08
4820-12
4820-16

Dime

nsions

1/4 19
3/8-19
1/2-14
3/4-14
1-11

1/4 19
3/8-19
1/2-14
3/4-14
1-11

34
36
46
50

34
36
46
50

22
27
32
41

H'
I'l‘ ||||||““|H

18-C



BSP Adaptors

A105

A608

KoHHeKkTOp

Union

Dimensions
part number

A105-02-02 1/8-28  1/8-28

A105-04-04 1/4-19  1/4-19

A105-06-06 3/8-19  3/8-19

A105-12-12 3/4-14  3/4-14

A105-20-20 1.1/4-11 1.1/4-11

A105-32-32 2-11 2-11

3arnywka ravka

Female Plug Swivel

part number Dimensions
___
A608-02 1/8-28 ]
____
A608-06 3/8-19 I
____
A608-10 5/8-14 I
____
A608-16 I
____
A608-24 1.1/2-11 I

Fluid Power Care

19-C

IMM Group



iHypees || T — | 711 M.

A604

A605

3arnywka ramka

Female Plug

part number Dimensions
___
AB04-02 1/8-28 ]
____
AB04-06 3/8-19 I
____
AB04-10 5/8-14 I
____
A604-16 ]
____
AB04-24 1.1/2-11 ]

3arnywka wryuep

Male plug

part number Dimensions
___
AB05-02 1/8-28 ]
____
AB05-06 3/8-19 I
____
ABO5-10 5/8-14 I
____
A605-16 ]
____
AB05-24 1.1/2-11 ]

Fluid Power Care

20-C

IMM Group



A051

1850

ApanTtep npuBapHOM ramka

Swivel Female Weldable End

ranbBaHM4eckoe NoKpbITHe: 6e3 OLMHKOBKM
surface treatment: without zinc plating
T T Dimensions
——-___
A051-02 1/8-28
——————
A051-06 3/8-19
——————
A051-10 5/8-14
——————
A051-16
——————
A051-24 1.1/2-11

ApanTtep npuBapHoOM wWTyUep L

Male Weldable End

j
ranbBaHM4ecKoe NoKpbITHE: 6e3 OLMHKOBKU
surface treatment: without zinc plating

part number Dimensions
___
1850-02 1/8-28 ]
____
1850-06 3/8-19 I
____
1850-10 5/8-14 I
____
1850-16 I
____
1850-24 1.1/2-11 I

Fluid Power Care

21-C

IMM Group



fiilHypress ||

L

220C

2200

ApanTtep npuBapHOM WTyLEep

Male Weldable End

ranbBaHM4YecKoe NoKpbITHe: 6e3 OLMHKOBKU
surface treatment: without zinc plating

Dimensions
part number
| | & [ o | |
220C-04 1/4-19 30 7 14
220C-06 3/8-19 32 9 17
220C-08 1/2-14 34 12 21
220C-12 3/4-14 40 15 28
220C-16 1-11 41 20 35

KoHHeKTOp npuBapHoOm

Threaded Sleeve

ranbBaHM4eckKoe NoKpbITHe: 6e3 OLMHKOBKM
surface treatment: without zinc plating
Dimensions
part number
I S A

2200-02 1/8-28 14 20
2200-04 1/4-19 16 22
2200-06 3/8-19 17 26
2200-08 1/2-14 18 30
2200-10 5/8-14 20 32
2200-12 3/4-14 20 38
2200-16 1-11 25 45
2200-20 1.1/4-11 25 55
2200-24 1.1/2-11 30 62
2200-32 2-11 30 70




i fypress I

1865  Apantep, BSP/BSPT

Male Connector BSP/BSPT

Pe3bba/ Thread:
BSPT (Form C DIN 3852)

part AUmbeEr g e -

1865-02-02 6 1/4 1/8-28 1/8-28 24 14
1865-04-04 8 5/16" 1/4-19 1/4-19 34 19
1865-06-06 10 3/8" 3/8-19 3/8-19 36 22
1865-08-08 12 1/2" 1/2-14 1/2-14 43 27
1865-08-12 12 172" 1/2-14 3/4-14 46 27
1865-12-12 20 3/4" 3/4-14 3/4-14 46 32
1865-12-20 20 3/4" 3/4-14 1.1/4-11 55 46
1865-16-16 25 1" 1-11 1-11 54 41
1865-20-20 32 1.1/4" 1.1/4-11 1.1/4-11 59 50
1865-24-24 38 1.1/2" 1.1/2-11 1.1/2-11 60 55
1865-32-32 51 2" 2-11 2-11 69 70

23-C



L]
[ 1]

MM,

2360

4860

ApanTtep, BSP/BSPT

Swivel Connector Female BSP/ Male BSPT

Pe3bb6a/ Thread:
BSPT (Form C DIN 3852)

part number

2360-02-02
2360-04-02
2360-04-04
2360-04-06
2360-06-04
2360-06-06
2360-06-08
2360-08-06
2360-08-08
2360-08-12
2360-12-08
2360-12-12
2360-12-16
2360-16-12
2360-16-16
2360-16-20
2360-20-20
2360-20-24
2360-24-24

[_mm | _inch |
6 1/4"
6 1/4"
8 5/16"
10 3/8"
8 5/16"
10 3/8"
12 172"
10 3/8"
12 172"
20 3/4"
12 172"
20 3/4"
25 1"
20 3/4"
25 1"
32 1.1/4"
32 1.1/4"
38 1.1/2"
38 1.1/2"

1/8
1/8"
1/4"
3/8"
1/4"
3/8"
1/2"
3/8"
1/2"
3/4"
172"
3/4"
1"
3/4"
1"
1.1/4"
1.1/4"
1.1/2"
1.1/2"

T-o6pas3Hbiv apganTep, BSPT

BSPT Branch Tee

Pe3bb6a/ Thread:
BSPT (Form C DIN 3852)

part number

4860-04
4860-06
4860-08
4860-12
4860-16
4860-20

[ mm | nch ] _F | T |8
8 5/16" 1/4-19 1/4-19 27
10 3/8" 3/8-19 3/8-19 28
12 172" 1/2-14 1/2-14 34
20 3/4" 3/4-14 3/4-14 40
25 1" 1-11 1-11 42
32 1.1/4" 1.1/4-11 1.1/4-11 52

@ tube

Dimensions

1/4"
1/4"
1/4"
3/8"
3/8"
3/8"
172"
172"
172"
3/4"
3/4"
3/4"
1"
1"
1"
1.1/4"
1.1/4"
1.1/2"

33
33
36
34
36
40
42
41
a7
a7
a7
55
54
60
62
62
66
67

Dimensions

15
15
15
15
15
15
19
18
19
19
19
19
24
24
24
25
25
26

14
14
16
19
19
22
22
22
27
27
27
32
36
36
41
46
46
50

14
19
22
19
22
27
22
27
32
27
32
41
32
41
50
50
60
60

F ] 7 L J8 |E JH | |
B 1/8" 29 10 11 14

|

< 7
27 14
28 19
34 22
40 27
42 33
52 41

24-C



fiilky/press [0

I

4620

4630

ApanTtep 90°BSP x BSPT

90°connector BSP male x BSPT male

Pe3bba/ Thread:
BSPT (Form C DIN 3852)

part AUmbeEr g e -

[ om ] inch | F | T |8 JC | _H |

4620-02 6 14
4620-04 8 5/16"
4620-06 10 38"
4620-08 12 1/2"
4620-12 20 3/4"
4620-16 25 G
4620-20 32 1.1/4"
4620-24 38 112"

ApanTep 45°BSP x BSPT

45°connector BSP male x BSPT male

Pe3bb6a/ Thread:
BSPT (Form C DIN 3852)

part AUmbeEr g e

[ om ] nch | F | T |8 JC | H |

4630-04 8 5/16"
4630-06 10 3/8"
4630-08 12 1/2"
4630-12 20 3/4"
4630-16 25 1"
4630-20 32 1.1/4"
4630-24 38 1.1/2"

1/8-28
1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

1/8-28
1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

26

26

14
14
19
22
27
33
41
50

14
19
22
27

II _.




Il ypress |[H 2

I

4600

4610

ApanTtep 90°BSP x BSPT

90°connector BSP swivel female x BSPT male

Pe3bba/ Thread:
BSPT (Form C DIN 3852)

part AUmbeEr g e

[ om ] inch | F | T |8 JC [H |E |

4600-04 8 5/16" 1/4-19 1/4-19
4600-06 10 3/8" 3/8-19 3/8-19
4600-08 12 172" 1/2-14 1/2-14
4600-12 20 3/4" 3/4-14 3/4-14
4600-16 25 1" 1-11 1-11
4600-20 32 1.1/4" 1.1/4-11 1.1/4-11
4600-24 38 1.1/2" 1.1/2-11 1.1/2-11

ApanTtep 45°BSP x BSPT

45°connector BSP swivel female x BSPT male

Pe3bb6a/ Thread:
BSPT (Form C DIN 3852)

part AUmbeEr g e

[ om ] nch | F | T |8 JC [H |E |

4610-04 8 5/16" 1/4-19 1/4-19
4610-06 10 3/8" 3/8-19 3/8-19
4610-08 12 172" 1/2-14 1/2-14
4610-12 20 3/4" 3/4-14 3/4-14
4610-16 25 1" 1-11 1-11
4610-20 32 1.1/4" 1.1/4-11 1.1/4-11
4610-24 38 1.1/2" 1.1/2-11 1.1/2-11




TiHypres |/} R Tr— | 1T MM

1875

ApanTtep BSP/NPTF ‘ L

Male Connector BSP/NPTF

Pe3bba / Thread: @
NPT (ANSI/ASME B1, 20, 1-1983)

part number -
-—————

1875-04-04 5/16" 1/4-19 1/4-18

1875-04-08 8 5/16" 1/4-19 1/2-14 41

1875-06-06 10 3/8" 3/8-19 3/8-18 36

1875-08-06 12 2" 1/2-14 3/8-18

1875-08-12 12 172" 1/2-14 3/4-14 46

1875-12-12 20 3/4" 3/4-14 3/4-14 48

1875-16-12 25 3/4-14

1875-20-20 32 1.1/4" 1-1/4-11  1.1/4-11.1/2 59

1875-24-24 38 1.1/2" 1.1/2-11 1.1/2-11.1/2

H TR
e ——

Fluid Power Care

27-C

IMM Group



il ypress || ST~ )/ rimm.

2365 Apantep BSP / NPTF

Swivel Connector Female BSP/ Male NPTF

Pe3bb6a/ Thread:

J
NPT (ANSI/ASME B1, 20, 1-1983)
-
part number

-——-EE-_

2365-02-02 1/4" 1/8-28 1/8-28

2365-04-02 6 1/4" 1/8-28 1/4-18 33 15 14 14
2365-04-04 8 5/16" 1/4-19 1/4-18 33 15 14 19
2365-04-06 10 3/8" 3/8-19 1/4-18 36 15 16 22
2365-06-04 8 5/16" 1/4-19 3/8-18 34 15 19 19
2365-06-06 10 3/8" 3/8-19 3/8-18 36 15 19 22
2365-06-08 12 172" 1/2-14 3/8-18 40 15 22 27
2365-08-06 10 3/8" 3/8-19 1/2-14 42 19 22 22
2365-08-08 12 172" 1/2-14 1/2-14 45 19 22 27
2365-08-12 20 3/4" 3/4-14 1/2-14 47 19 27 32
2365-12-08 12 172" 1/2-14 3/4-14 47 19 271 27
2365-12-12 20 3/4" 3/4-14 3/4-14 47 19 27 32
2365-12-16 25 1" 1-11 3/4-14 55 19 32 41
2365-16-12 20 3/4" 3/4-14 1-11.1/2 54 24 36 32
2365-16-16 25 1" 1-11 1-11.1/2 60 24 36 41
2365-16-20 32 1.1/4" 1.1/4-11 1-11.1/2 62 24 41 50
2365-20-20 32 1.1/4" 1.1/4-11 1.1/4-11.1/2 62 25 46 50
2365-20-24 38 1.1/2" 1.1/2-11  1.1/4-11.1/2 66 25 46 60
2365-24-24 38 1.1/2" 1.1/2-11  1.1/2-11.1/2 67 26 50 60

4870  TpouHuk NPTF X JIC

NPTF male branch Tee

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1, 20, 1-1983) T

part number -

-__E-__

4870-04 8 5/16" 1/4-19 1/4-18

4870-06 10 3/8" 3/8-19 3/8-18 32 32 19
4870-08 12 172" 1/2-14 1/2-14 36 37 22
4870-12 20 3/4" 3/4-14 3/4-14 40 40 27
4870-16 25 1" 1-11 1-11.1/2 50 50 33
4870-20 32 1.1/4" 1.1/4-11  1.1/4-11.1/2 52 52 41

28-C



i fypress I

4670  Apantep 90°BSP/ NPTF

90°connector BSP male x NPTF male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1, 20, 1-1983)

part AUmbeEr g e

4670-04 8 5/16" 1/4-19 1/4-18 26 26 14
4670-06 10 3/8" 3/8-19 3/8-18 32 32 19
4670-08 12 172" 1/2-14 1/2-14 36 36 22
4670-12 20 3/4" 3/4-14 3/4-14 40 40 27
4670-16 25 1" 1-11 1-11.1/2 42 42 33
4670-20 32 1.1/4" 1.1/4-11  1.1/4-11.1/2 52 52 41
4670-24 38 1.1/2" 1.1/2-11  1.1/2-11.1/2 59 59 50

4680  ApanTtep 45°BSP/ NPTF /

45°connector BSP male x NPTF male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1, 20, 1-1983)

&
H
T
part AUmbeEr g e -

[ om ] inch | F | T |8 JC | H |

4680-04 8 5/16" 1/4-19 1/4-18 21 21 14
4680-06 10 3/8" 3/8-19 3/8-18 25 25 19
4680-08 12 172" 1/2-14 1/2-14 30 28 22
4680-12 20 3/4" 3/4-14 3/4-14 3l SS! 27
4680-16 25 1" 1-11 1-11.1/2 41 41 33
4680-20 32 1.1/4" 1.1/4-11  1.1/4-11.1/2 46 46 41
4680-24 38 1.1/2" 1.1/2-11  1.1/2-11.1/2 50




4650

4660

Apantep 90°BSP / NPTF

90°connector BSP swivel female x NPTF male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1, 20, 1-1983)

@ tube
part number

4650-04 8 5/16"
4650-06 10 3/8"
4650-08 12 1/2"
4650-12 20 3/4"
4650-16 25 1"
4650-20 32 1.1/4"
4650-24 38 1.1/2"

ApanTtep 45°BSP / NPTF

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

45°connector BSP swivel female x NPTF male

Pe3bb6a/ Thread:
NPT (ANSI/ASME B1, 20, 1-1983)

@ tube
part number

1/4-18 29
3/8-18 34
1/2-14 40
3/4-14 46
1-11.1/2 52
1.1/4-11.1/2 54
1.1/2-11.1/2 61
Dimensions

[ om | nch | F | T |8 [C

4660-04 8 5/16"
4660-06 10 3/8"
4660-08 12 172"
4660-12 20 3/4"
4660-16 25 1"
4660-20 32 1.1/4"
4660-24 38 1.1/2"

1/4-19
3/8-19
1/2-14
3/4-14
1-11
1.1/4-11
1.1/2-11

1/4-18
3/8-18
1/2-14
3/4-14
1-11.1/2
1.1/4-11.1/2
1.1/2-11.1/2

21
25
28
33
37

21
25
29
33
37

H

14
19
22
27
33
41
50

(E | |
19

22
27
32
38
50
55

30-C




iy press || TR ]| ITiTE MM

3900

Perynupyembin agantep 90°BSP

Adjustable Elbow BSP/BSP

Pe3bba / Thread:
BSPP (I1SO 1179-3)

-
-__ﬂ---_

3900-02-02 1/8 1/8 26 12

3900-04-04 8 5/16" 1/4 1/4 32 14

3900-06-02

3900-06-06 10 3/8" 3/8 3/8 37 19

3900-08-04 8 5/16" 1/4 1/2 43 22

3900-08-08 12

3900-12-06 10 3/8" 3/8 3/4 49 27

3900-12-12 20 3/4" 3/4 3/4 49 27

3900-16-12 20

3900-16-20 32 1.1/4" 1.1/4 57 41

3900-20-20 32 1.1/4" 1.1/4 1.1/4 52 57 41

Fluid Power Care 31-C

IMM Group



Yl mmm.

3255 Perynupyembin agantep 90°BSP/BSP

Adjustable 90°Elbow Swivel Female BSP/BSPP
Male

Pe3bb6a/ Thread:
BSPP (I1SO 1179-3)

part number

L F ] 7 B |C |E JH | K |

3255-02-02 6 1/4" 1/8" 1/8" 25 26 12 14 14
3255-04-04 8 5/16" 1/4" 1/4" 27 32 14 19 19
3255-06-06 10 3/8" 3/8" 3/8" 32 37 19 22 24
3255-08-08 12 172" 1/2" 172" 37 43 22 27 27
3255-12-12 20 3/4" 3/4" 3/4" 42 49 27 32 36
3255-16-16 25 1" 1" 1" 46 52 33 41 41
3255-20-20 32 1.1/4" 1.1/4" 1.1/4" 52 57 41 50 50
3255-24-24 38 1.1/2" 1.1/2" 1.1/2" 59 61 48 60 60

& B

" |
3600 Perynupyembii TPOMHUK HLMWM

d
BSP,60koBOe nogkrntoveHue /ig_d | I
i o
Adjustable Run Tee BSP/BSPP Male @4
Pe3kb6a / Thread: F—J

BSPP (ISO 1179-3)

@ tube Dimensions
part number
. mm | nch | F [ T [BJC | E | H |
3600-02-02 6 1/4" 1/8-28 1/8-28 23 26 12 14
3600-04-02 6 1/4" 1/8-28 1/4-19 27 32 14 19
3600-04-04 8 5/16" 1/4-19 1/4-19 27 32 14 19
3600-04-06 10 3/8" 3/8-19 1/4-19 32 34 19 19
3600-06-04 8 5/16" 1/4-19 3/8-19 29 37 19 24
3600-06-06 10 3/8" 3/8-19 3/8-19 32 37 19 24
3600-06-08 12 1/2" 1/2-14 3/8-19 37 49 27 36
3600-08-06 10 3/8" 3/8-19 1/2-14 34 43 22 27
3600-08-08 12 1/2" 1/2-14 1/2-14 37 40 22 24
3600-08-12 12 3/4" 1/2-14 1/2-14 40 49 27 36
3600-12-08 12 1/2" 1/2-14 3/4-11 37 43 22 27
3600-12-12 20 3/4" 3/4-11 3/4-11 42 46 27 27
3600-12-16 25 1" 1-11 3/4-11 45 52 33 41
3600-16-12 20 3/4" 3/4-11 1-11 42 49 27 36
3600-16-16 25 1" 1-11 1-11 46 52 33 36
3600-16-20 32 1.1/4" 1.1/4-11 1-11 46 52 33 41
3600-20-20 32 1.1/4" 1.1/4-11 1.1/4-11 51 57 41 50
3600-20-24 38 1.1/2" 1.1/2-11 1.1/4-11 52 57 41 50
3600-24-20 32 1.1/4" 1.1/4-11 1.1/2-11 52 57 41 41
3600-24-24 38 1.1/2" 1.1/2-11 1.1/2-11 59 61 48 60

32-C



3605

Perynupyembin TponMHUK BSP,

[N,
HUXXHee nogknro4veHune
Adjustable Branch Tee BSP/BSPP Male
Pe3b6a / Thread:
BSPP (ISO 1179-3)
@ tube Dimensions
part number
| mm | gnch | _F [ T _|B |
3605-02-02 6 1/4" 1/8-28 1/8-28 23
3605-04-02 6 1/4" 1/8-28 1/4-19 27
3605-04-04 8 5/16" 1/4-19 1/4-19 27
3605-04-06 10 3/8" 3/8-19 1/4-19 32
3605-06-04 8 5/16" 1/4-19 3/8-19 29
3605-06-06 10 3/8" 3/8-19 3/8-19 32
3605-06-08 12 1/2" 1/2-14 3/8-19 37
3605-08-06 10 3/8" 3/8-19 1/2-14 34
3605-08-08 12 1/2" 1/2-14 1/2-14 37
3605-08-12 12 3/4" 3/4-11 1/2-14 40
3605-12-08 12 1/2" 1/2-14 3/4-11 37
3605-12-12 20 3/4" 3/4-11 3/4-11 42
3605-12-16 25 1" 1-11 3/4-11 45
3605-16-12 20 3/4" 3/4-11 1-11 42
3605-16-16 25 1" 1-11 1-11 46
3605-16-20 32 1.1/4" 1.1/4-11 1-11 46
3605-20-20 32 1.1/4" 1.1/4-11 1.1/4-11 51
3605-20-24 38 1.1/2" 1.1/2-11 1.1/4-11 52
3605-24-20 32 1.1/4" 1.1/4-11 1.1/2-11 52
3605-24-24 38 1.1/2" 1.1/2-11 1.1/2-11 59

Yl mmm.

lc [E [0 [
26 12 14
32 14 19
32 14 19
34 19 19
37 19 24
37 19 24
49 27 36
43 22 27
40 22 24
49 27 36
43 22 27
446 27 27
52 33 41
49 27 36
52 33 36
52 33 41
57 41 50
57 41 50
57 41 41
61 48 60

33-C



iy press || TR ]| ITiTE MM

1805

KoHHekTOp BSP/ meTpuka 60°

Male connector BSP male /Metric 60°
cone

Pe3bba / Thread:
Metric (DIN 7631)

part number -
-—————

1805-02-10 4" 1/8-28 M10 x 1

1805-04-12 8 5/16" 1/4-19 M12 x 1.5 33

1805-04-16 8 5/16" 1/4-19 M16 x 1.5 33

1805-04-22 8 5/16" 1/4-19 M22 x 1.5

1805-06-16 10 3/8" 3/8-19 M16 x 1.5 33

1805-06-20 10 3/8" 3/8-19 M20 x 1.5 37

1805-08-14 12 2" 1/2-14 M14 x 1.5

1805-08-18 12 172" 1/2-14 M18 x 1.5 38

1805-08-22 12 172" 1/2-14 M22 x 1.5 38

1805-10-22 16 8" 5/8-14 M22 x 1.5

1805-12-22 20 3/4" 3/4-14 M22 x 1.5 41

1805-12-30 20 3/4" 3/4-14 M30 x 1.5 46

1805-16-26 M26 x 1.5

Fluid Power Care

34-C

IMM Group



fiilk]ypress || 4.

I

2370

3510

KoHHekTOp MeTpuka 607 BSP

Swivel Nut Female Metric 60°cone/BSP

part AUmbeEr g e -

2370-16-06 10 3/8" M16x1,5 3/8-19 35
2370-16-08 12 1/2" M16x1,5 1/2-14 38
2370-18-06 10 3/8" M18x1,5 3/8-19 35
2370-18-08 12 1/2" M18x1,5 1/2-14 38
2370-20-08 12 172" M20x1,5 1/2-14 40

KoHHekTOp BSP/meTpuka DIN 3852-1

Male Connector BSP/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

part AUmbeEr g e -

L om ] nch | _F | T __|L |B [C ]
3510-10-02 6 1/4" 1/8-28 M10x1 24 9 8
3510-12-02 6 1/4" 1/8-28 M12x1,5 27 12 8
3510-14-04 8 5/16" 1/4-19 M14x1,5 31 115 11
3510-16-04 8 5/16" 1/4-19 M16x1,5 32 13 11
3510-16-06 10 3/8" 3/8-19 M16x1,5 33 125 12
3510-18-06 10 3/8" 3/8-19 M18x1,5 35 14 12
3510-18-08 12 172" 1/2-14 M18x1,5 37 135 14
3510-22-08 12 1/2" 1/2-14 M22x1,5 39 15 14
3510-22-12 20 3/4" 3/4-11 M22x1,5 42 15 16
3510-27-12 20 3/4" 3/4-11 M27x2 47 19 16
3510-27-16 25 1" 1-11 M27x2 50 185 19
3510-33-16 25 1" 1-11 M33x2 50 19 19
3510-42-20 32 1.1/4" 1.1/4-11 M42x2 54 195 20
3510-48-24 38 1.1/2" 1.1/2-11 M48x2 60 22 22

BN

16
17
19
22
22
24
24
30
30
36
36
41
50
60

35-C




L]
[ 1]

MM,

3515

3560

KoHHeKTOp yANMHEeHHbIN
BSP/meTtpuka DIN 3852-2

Long Male Connector BSP/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

@ tube Dimensions
part number
 mm [ nch [ F | T [L [B

3515-10-02 6 1/4" 1/8-28 M10x1 45 9
3515-12-02 6 1/4" 1/8-28 M12x1,5 48 12
3515-14-04 8 5/16" 1/4-19 M14x1,5 56 12
3515-16-04 8 5/16" 1/4-19 M16x1,5 57 13
3515-16-06 10 3/8" 3/8-19 M16x1,5 64 13
3515-18-06 10 3/8" 3/8-19 M18x1,5 66 14
3515-18-08 12 1/2" 1/2-14 M18x1,5 70 14
3515-22-08 12 1/2" 1/2-14 M22x1,5 73 15
3515-22-12 20 3/4" 3/4-11 M22x1,5 83 15
3515-27-12 20 3/4" 3/4-11 M27x2 88 19
3515-27-16 25 1" 1-11 M27x2 99 19
3515-33-16 25 1" 1-11 M33x2 99 19
3515-42-20 32 1.1/4" 1.1/4-11 M42x2 117 20
3515-48-24 38 1.1/2" 1.1/2-11 M48x2 130 22

KoHHekTOp BSP/ meTpuka DIN

3852-1

Swivel Nut Female BSP/Metric DIN 3852-1

Pe3wba/ Thread:

Metric Parallel

@ tube Dimensions
part number
 mm [ nch [ F | T [L [B |

3560-10-02 6 1/4" 1/8" M10x1 28 9
3560-12-02 6 1/4" 1/8" M12x1,5 30 12
3560-14-04 8 5/16" 1/4" M14x1,5 30 12
3560-16-04 8 5/16" 1/4" M16x1,5 32 13
3560-16-06 10 3/8" 3/8" M16x1,5 34 13
3560-18-06 10 3/8" 3/8" M18x1,5 35 14
3560-18-08 12 1/2" 1/2" M18x1,5 39 14
3560-22-08 12 1/2" 1/2" M22x1,5 41 15
3560-22-12 20 3/4" 3/4" M22x1,5 43 15
3560-27-12 20 3/4" 3/4" M27x2 47 19
3560-27-16 25 1" 1" M27x2 54 19
3560-33-16 25 1" 1" M33x2 54 19
3560-42-20 32 1.1/4" 1.1/4" M42x2 57 20
3560-48-24 38 1.1/2" 1.1/2" M48x2 63 22

—

lc [ [
29 16
29 17
36 19
36 22
43 22
43 24
48 24
48 30
57 30
57 36
68 36
68 41
84 50
93 60
B

(E [H [
16 14
17 14
19 19
22 19
22 22
24 22
24 27
30 27
30 32
36 32
36 41
41 41
50 50
60 60

36-C



Yl mmm.

3910

3915

Perynupyembin apantep 90°

meTpuka DIN 3852-1/BSP

Adjustable Elbow BSP/Metric DIN 3852-1

Pe3bb6a/ Thread:

Metric Parallel

part number

3910-10-02
3910-12-02
3910-14-04
3910-16-04
3910-16-06
3910-18-06
3910-18-08
3910-22-08
3910-22-12
3910-27-12
3910-27-16
3910-33-16
3910-42-20
3910-48-24

@ tube Dimensions
 mm [ nch [ F | T [B [C |
6 1/4" 1/8" M10x1 23 27
6 1/4" 1/8" M12x1,5 27 32
8 5/16" 1/4" M14x1,5 27 32
8 5/16" 1/4" M16x1,5 29 38
10 3/8" 3/8" M16x1,5 32 38
10 3/8" 3/8" M18x1,5 32 40
12 1/2" 1/2" M18x1,5 37 41
12 1/2" 1/2" M22x1,5 37 43
20 3/4" 3/4" M22x1,5 42 45
20 3/4" 3/4" M27x2 42 52
25 1" 1" M27x2 46 52
25 1" 1" M33x2 46 53
32 1.1/4" 1.1/4" M42x2 52 58
38 1.1/2" 1.1/2" M48x2 59 67
—

Perynupyembin apantep 90°
yANUHEeHHbIW, MmeTpuka DIN 3852-

1/BSP

Long Adjustable Elbow BSP/Metric DIN 3852-1

Pe3bba/ Thread:

Metric Parallel

part number

3915-10-02
3915-12-02
3915-14-04
3915-16-04
3915-16-06
3915-18-06
3915-18-08
3915-22-08
3915-22-12
3915-27-12
3915-27-16
3915-33-16
3915-42-20
3915-48-24

@ tube

[_mm_|
6
6
8
8
10
10
12
12
20
20
25
25
32
38

[ nch | __F | T __]B ]C |
1/4" 1/8" M10x1 23 46
1/4" 1/8" M12x1,5 27 54
5/16" 1/4" M14x1,5 27 57
5/16" 1/4" M16x1,5 29 67
3/8" 3/8" M16x1,5 32 67
3/8" 3/8" M18x1,5 32 67
172" 172" M18x1,5 37 75
172" 1/2" M22x1,5 37 78
3/4" 3/4" M22x1,5 42 88
3/4" 3/4" M27x2 42 95

1" 1" M27x2 46 105
1" 1" M33x2 46 105
1.1/4" 1.1/4" M42x2 52 124
1.1/2" 1.1/2" M48x2 59 141

Dimensions

&
®
T Vi \\
]
[aa]
E
F
(0 lE |
12 14
14 17
14 19
19 22
19 22
19 24
22 24
22 27
271 27
27 36
33 36
33 41
41 50
48 60
C

T

(H e [
12 14
14 17
14 19
19 22
19 22
19 24
22 24
22 27
27 27
27 36
33 36
33 41
41 50
48 60

37-C



L]
[ 1]

MM,

3410

3610

Perynupyembin apantep 45°
meTpuka DIN 3852-1/BSP

Adjustable 45°Elbow BSP/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

@ tube

part number

3410-10-02 1/4" 1/8"
3410-12-02 6 1/4" 1/8"
3410-14-04 8 5/16" 1/4"
3410-16-04 8 5/16" 1/4"
3410-16-06 10 3/8" 3/8"
3410-18-06 10 3/8" 3/8"
3410-18-08 12 172" 1/2"
3410-22-08 12 172" 1/2"
3410-22-12 20 3/4" 3/4"
3410-27-12 20 3/4" 3/4"
3410-27-16 25 1" 1"
3410-33-16 25 1" 1"
3410-42-20 32 1.1/4" 1.1/4"
3410-48-24 38 1.1/2" 1.1/2"

Perynupyembin TPOMHUK
meTpuka DIN 3852-1/BSP

Adjustable Run Tee BSP/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

@ tube

part number

3610-10-02 1/4" 1/8-28
3610-12-02 6 1/4" 1/8-28
3610-14-04 8 5/16" 1/4-19
3610-16-04 8 5/16" 1/4-19
3610-16-06 10 3/8" 3/8-19
3610-18-06 10 3/8" 3/8-19
3610-18-08 12 172" 1/2-14
3610-22-08 12 172" 1/2-14
3610-22-12 20 3/4" 3/4-11
3610-27-12 20 3/4" 3/4-11
3610-27-16 25 1" 1-11
3610-33-16 25 1" 1-11
3610-42-20 32 1.1/4" 1.1/4-11
3610-48-24 38 1.1/2" 1.1/2-11

Dimensions

IIIIIMHIIIIIIIIIIIIIIIBIIIIIIIIIIIIIIII

M10x1 19
M12x1,5 21 29 14 17
M14x1,5 21 29 14 19
M16x1,5 22 33 19 22
M16x1,5 25 33 19 22
M18x1,5 25 33 19 24
M18x1,5 28 35 22 24
M22x1,5 28 38 22 27
M22x1,5 33 40 27 27

M27x2 33 44 27 36

M27x2 37 46 33 36

M33x2 37 47 33 41

M42x2 41 49 41 50

M48x2 45 53 48 60

C B )
__ o |
L
= %ﬁ
o
Dimensions

M10x1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

23
27
27
29
32
32
37
37
42
42
46
46
52
59

32
32
38
38
40
41
43
45
52
52
53
58
67

17
19
22
22
24
24
27
27
36
36
41
50
60

14
14
19
19
19
22
22
27
27
33
33
41
48

IIIIIMHIIIIIIIIIIIIIIIBIIIIIIIIIIIIIIII

38-C



L]
[ 1]

MM,

3615

Perynupyembii TPOMHMUK,

HWXXHee NoAKIYeHne MeTpurKa
DIN 3852-1/BSP

Adjustable Branch Tee BSP/Metric DIN 3852-1

Pe3bb6a/ Thread:
Metric Parallel

part number

3615-10-02
3615-12-02
3615-14-04
3615-16-04
3615-16-06
3615-18-06
3615-18-08
3615-22-08
3615-22-12
3615-27-12
3615-27-16
3615-33-16
3615-42-20
3615-48-24

1.1/4"
1.1/2"

1/8-28
1/8-28
1/4-19
1/4-19
3/8-19
3/8-19
1/2-14
1/2-14
3/4-11
3/4-11
1-11
1-11
1.1/4-11
1.1/2-11

M10x1
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5

M27x2

M27x2

M33x2

M42x2

M48x2

39-C



L]
[ 1]

MM,

3520

3525

KoHHeKkTOp HapyXHble pe3b6bli B.

Male Connector BSP/UNF

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

3520-04-02
3520-05-02
3520-06-04
3520-08-04
3520-08-06
3520-08-08
3520-10-06
3520-10-08
3520-10-12
3520-12-08
3520-12-12
3520-16-12
3520-16-16
3520-20-20
3520-24-24

Dimensions

-——-E-E_

6
8
8
10
12
10
12
20
12
20
20
25
32
38

1/4"
1/4"

5/16"
5/16"

3/8"
172"
3/8"
172"
3/4"
172"
3/4"
3/4"
1"

1.1/4"
1.1/2"

1/8-28
1/8-28
1/4-19
1/4-19
3/8-19
1/2-14
3/8-19
1/2-14
3/4-11
1/2-14
3/4-11
3/4-11
1-11
1.1/4-11
1.1/2-11

7/16-20
1/2-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

KoHHeKkTOp HapyXHble pe3b0bl, yAnuH

Long Male Connector BSP/UNF

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

3525-04-02
3525-05-02
3525-06-04
3525-08-04
3525-08-06
3525-08-08
3525-10-06
3525-10-08
3525-10-12
3525-12-08
3525-12-12
3525-16-12
3525-16-16
3525-20-20
3525-24-24

@ tube

)

25
30
32
33
36
36
38
42
42
44
45
48
51
55

9
10
11
11
11
12,5
13
12,5
15
15
15
15
15
15

8
11
11
12
14
12
14
16
14
16
16
19
20
22

16
17
22
22
22
27
27
27
32
32
38
38
50
55

—

Dimensions

-——-E-E_

6
8
8
10
12
10
12
20
12
20
20
25
32
38

1/4"
1/4"

5/16"
5/16"

3/8"
172"
3/8"
172"
3/4"
172"
3/4"
3/4"
1"

1.1/4"
1.1/2"

1/8-28
1/8-28
1/4-19
1/4-19
3/8-19
1/2-14
3/8-19
1/2-14
3/4-11
1/2-14
3/4-11
3/4-11
1-11
1.1/4-11
1.1/2-11

7/16-20
1/2-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

46
55
57
64
70
67
71
83
76
85
86
97
114
125

9
10
11
11
11
12,5
13
12,5
15
15
15
15
15
15

29
36
36
43
48
43
48
57
48
57
57
68
84
93

16
17
22
22
22
27
27
27
32
32
38
38
50
55

40-C



Yl mmm.

3570

3920

Apanatep ranka BSP/UNF HapyXHas pe3k

Swivel Nut Female BSP/UNF

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

[ mm | nch ] _F | T |8
3570-04-02 6 1/4" 1/8-28 7/16-20 9
3570-05-02 6 1/4" 1/8-28 1/2-20 9
3570-06-04 8 5/16" 1/4-19 9/16-18 10
3570-08-04 8 5/16" 1/4-19 3/4-16 11
3570-08-06 10 3/8" 3/8-19 3/4-16 11
3570-08-08 12 172" 1/2-14 3/4-16 11
3570-10-06 10 3/8" 3/8-19 7/8-14 13
3570-10-08 12 172" 1/2-14 7/8-14 13
3570-10-12 20 3/4" 3/4-11 7/8-14 13
3570-12-08 12 172" 1/2-14 1.1/16-12 15
3570-12-12 20 3/4" 3/4-11 1.1/16-12 15
3570-16-12 20 3/4" 3/4-11 1.5/16-12 15
3570-16-16 25 1" 1-11 1.5/16-12 15
3570-20-20 32 1.1/4" 1.1/4-11 1.5/8-12 15
3570-24-24 38 1.1/2" 1.1/2-11 1.7/8-12 15

KoHHekTOp 90° BSP/UNF

Adjustable Elbow BSP/UNF

Pe3bba/ Thread:
UNF/UN (ISO 11926-1)

part number

[_mm | _inch |

3920-04-02 6 1/4"
3920-05-02 6 1/4"
3920-06-04 8 5/16"
3920-08-04 8 5/16"
3920-08-06 10 3/8"
3920-08-08 12 172"
3920-10-06 10 3/8"
3920-10-08 12 172"
3920-10-12 20 3/4"
3920-12-08 12 172"
3920-12-12 20 3/4"
3920-16-12 20 3/4"
3920-16-16 25 1"
3920-20-20 32 1.1/4"
3920-24-24 38 1.1/2"

F
1/8"
1/8"
1/4"
1/4"
3/8"
1/2"
3/8"
1/2"
3/4"
1/2"
3/4"
3/4"

1"
1.1/4"
1.1/2"

Dimensions

J

L e [H [
28 14 14
28 16 14
29 17 19
31 22 19
32 22 22
37 22 27
36 27 22
38 27 27
41 27 32
43 32 27
43 32 32
45 38 32
51 38 41
53 50 50
57 55 60

&

o
" LB
L
Dimensions
17 |8 Jc [H JE | |

7116-20 23 46 12 14
1/2-20 24 50 14 16
9/16-18 27 57 14 19
3/4-16 29 67 19 22
3/4-16 32 67 19 22
3/4-16 37 75 22 22
7/8-14 34 78 22 27
7/8-14 37 78 22 27
7/8-14 42 88 27 27
1.1/16-12 40 92 27 32
1.1/16-12 42 92 27 32
1.5/16-12 45 105 33 41
1.5/16-12 46 105 33 41
1.5/8-12 52 124 41 50
1.7/8-12 59 135 48 55

41-C



Yl mmm.

3925

3420

Perynupyembin apantep 90°
yAnuHeHHbIn BSP/UNF

Adjustable Elbow BSP/UNF

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

3925-04-02
3925-05-02
3925-06-04
3925-08-04
3925-08-06
3925-08-08
3925-10-06
3925-10-08
3925-10-12
3925-12-08
3925-12-12
3925-16-12
3925-16-16
3925-20-20
3925-24-24

@ tube
[_mm [ inch |
6 1/4"
6 1/4"
8 5/16"
8 5/16"
10 3/8"
12 1/2"
10 3/8"
12 1/2"
20 3/4"
12 1/2"
20 3/4"
20 3/4"
25 1"
32 1.1/4"
38 1.1/2"

F
1/8"
1/8"
1/4"
1/4"
3/8"
172"
3/8"
1/2"
3/4"
1/2"
3/4"
3/4"

1"
1.1/4"
1.1/2"

Perynupyembint apantep 45°BSP/UNF

Adjustable Elbow BSP/UNF

Pe3bb6a/ Thread:
UNF/UN (ISO 11926-1)

part number

3420-04-02
3420-05-02
3420-06-04
3420-08-04
3420-08-06
3420-08-08
3420-10-06
3420-10-08
3420-10-12
3420-12-08
3420-12-12
3420-16-12
3420-16-16
3420-20-20
3420-24-24

@ tube

[ mm_|
6
6
8
8
10
12
10
12
20
12
20
20
25
32
38

_inch |
1/4"
1/4"
5/16"
5/16"
3/8"
172"
3/8"
172"
3/4"
172"
3/4"
3/4"
1"
1.1/4"
1.1/2"

F
1/8"
1/8"
1/4"
1/4"
3/8"
1/2"
3/8"
1/2"
3/4"
1/2"
3/4"
3/4"

1"
1.1/4"
1.1/2"

D

—
% @
F
Dimensions
17 |8 Jc [H JE | |
7/16-20 23 26 12 14
1/2-20 24 29 14 16
9/16-18 27 32 14 19
3/4-16 29 37 19 22
3/4-16 32 37 19 22
3/4-16 37 40 22 22
7/8-14 34 43 22 27
7/8-14 37 43 22 27
7/8-14 42 46 27 27
1.1/16-12 40 50 27 32
1.1/16-12 42 50 27 32
1.5/16-12 45 52 33 41
1.5/16-12 46 52 33 41
1.5/8-12 52 57 41 50
1.7/8-12 59 61 48 55
P / @
'_L
<

Dimensions

1 [B JC [H [E [
7/16-20 12 27 12 14
1/2-20 14 27 14 16
9/16-18 14 29 14 19
3/4-16 19 33 19 22
3/4-16 19 33 19 22
3/4-16 2 3B 22 22
7/8-14 22 39 22 27
7/8-14 2 39 22 27
7/8-14 27 40 27 27
1.1/16-12 27 44 27 32
1.1/16-12 27 44 27 32
1.5/16-12 33 47 33 41
1.5/16-12 33 47 33 41
1.5/8-12 41 49 41 50
1.7/8-12 48 49 48 55

42-C



)/ e

3620 Perynupyembii TPOMHMUK, n N
HWXHee nogkntoveHmne UNF/BSP J_V —

Adjustable Run Tee BSP/UNF

Pe3bb6a/ Thread: E

UNF/UN (ISO 11926-1)

@ tube Dimensions
part number
-__E---_

3620-04-02 1/4" 1/8-28 7/16-20

3620-05-02 6 1/4" 1/8-28 1/2-20 24 29 16 14
3620-06-04 8 5/16" 1/4-19 9/16-18 27 32 19 14
3620-08-04 8 5/16" 1/4-19 3/4-16 29 37 22 19
3620-08-06 10 3/8" 3/8-19 3/4-16 32 37 22 19
3620-08-08 12 1/2" 1/2-14 3/4-16 37 40 22 22
3620-10-06 10 3/8" 3/8-19 7/8-14 34 43 27 22
3620-10-08 12 1/2" 1/2-14 7/8-14 37 43 27 22
3620-10-12 20 3/4" 3/4-11 7/8-14 42 46 27 27
3620-12-08 12 1/2" 1/2-14 1.1/16-12 40 50 32 27
3620-12-12 20 3/4" 3/4-11 1.1/16-12 42 50 32 27
3620-16-12 20 3/4" 3/4-11 1.5/16-12 45 52 41 33
3620-16-16 25 1" 1-11 1.5/16-12 46 52 41 33
3620-20-20 32 1.1/4" 1.1/4-11 1.5/8-12 52 57 50 41
3620-24-24 38 1.1/2" 1.1/2-11 1.7/8-12 59 61 55 48

‘ B
L

3625 Perynupyembii TPOMHMUK,
6oKkoBOE NoakKyYeHue
UNF/BSP

Adjustable Branch Tee BSP/UNF

Pe3bba/ Thread:
UNF/UN (ISO 11926-1)

@ tube Dimensions
part number
-__E---_

3625-04-02 1/4" 1/8-28 7/16-20

3625-05-02 6 1/4" 1/8-28 1/2-20 24 29 16 14
3625-06-04 8 5/16" 1/4-19 9/16-18 27 32 19 14
3625-08-04 8 5/16" 1/4-19 3/4-16 29 37 22 19
3625-08-06 10 3/8" 3/8-19 3/4-16 32 37 22 19
3625-08-08 12 1/2" 1/2-14 3/4-16 37 40 22 22
3625-10-06 10 3/8" 3/8-19 7/8-14 34 43 27 22
3625-10-08 12 1/2" 1/2-14 7/8-14 37 43 27 22
3625-10-12 20 3/4" 3/4-11 7/8-14 42 46 27 27
3625-12-08 12 1/2" 1/2-14 1.1/16-12 40 50 32 27
3625-12-12 20 3/4" 3/4-11 1.1/16-12 42 50 32 27
3625-16-12 20 3/4" 3/4-11 1.5/16-12 45 52 41 33
3625-16-16 25 1" 1-11 1.5/16-12 46 52 41 33
3625-20-20 32 1.1/4" 1.1/4-11 1.5/8-12 52 57 50 41
3625-24-24 38 1.1/2" 1.1/2-11 1.7/8-12 59 61 55 48

43-C



Wiy press = BSP Adaptors

Fluid Power Care 44 -C IMM Group



